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5.2.8. � E?GK49 CDBEDBK>< <ECB?A9A<S #B8DS8K<>B@ B5S;4F9?PEF6, CD98GE@BFD9AAOI 
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$BEE<=E>B= (989D4J<<. 
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 GA<J<C4?PAO@ >BAFD4>FB@ EDB>G B5S;4A CD98BEF46<FP �4>4;K<>G D9;G?PF4FO 6OCB?A9AAOI D45BF, 
CD98GE@BFD9AAO9  GA<J<C4?PAO@ >BAFD4>FB@. %DB> CD98BEF46?9A<S <AHBD@4J<< B IB89 
<ECB?A9A<S CD<ASFOI A4 E95S B5S;4F9?PEF6 EBEF46?S9F 3 (FD<) 8AS E @B@9AF4 CB?GK9A<S ;4CDBE4 
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H4>F<K9E>B9 6OCB?A9A<9 D45BFO, 4 F4>:9 4>F4 E69D>< 6;4<@AOI D4EKёFB6. 
6.2.3. #D98BEF46<FP �4>4;K<>G A48?9:4M9 BHBD@?9AAO9 8B>G@9AFO, CD98GE@BFD9AAO9 

 GA<J<C4?PAO@ >BAFD4>FB@ < CD<?B:9A<S@< > A9@G, 4 F4>:9 8B>G@9AF, CB8F69D:84RM<= 
CB?AB@BK<S CD98EF46<F9?S #B8DS8K<>4 CD< CDB<;6B8EF69 D45BF (9E?< CD98EF46<F9?P A4;A4K4?ES).  
#B8DS8K<> 698ёF A4 B5N9>F9 :GDA4? GK9F4 6OCB?A9AAOI D45BF, 6 >BFBDB@ BFD4:49FES 69EP IB8 
CDB<;6B8EF64 D45BF, 4 F4>:9 6E9 E6S;4AAO9 E QF<@ H4>FO < B5EFBSF9?PEF64, <@9RM<9 ;A4K9A<9 6B 
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6.2.4. "59EC9K<FP GEFD4A9A<9 6OS6?9AAOI A98BEF4F>B6 < A9 CD<EFGC4FP > CDB8B?:9A<R D45BF 
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 GA<J<C4?PAO@ >BAFD4>FB@ 74D4AF<=AOI EDB>B6 A4 D9;G?PF4F D45BF A98BEF4F>< (89H9>FO) D45BF, 
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D45BK97B 8AS CBE?9 A4EFGC?9A<S F4><I B5EFBSF9?PEF6. 
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B5S;4A G698B@<FP �4>4;K<>4 6 F9K9A<< 2-I D45BK<I 8A9= B CD<6?9K9A<< EG5CB8DS8K<>4 B5?484RM97B 
EBBF69FEF6GRM9= ?<J9A;<9=. 

6.2.14. � J9?SI D94?<;4J<< CB?B:9A<= K4EF< 2 EF4FP< 55.13 �D48BEFDB<F9?PAB7B >B89>E4 
#B8DS8K<> B5S;4A B59EC9K<FP 8BEFGC A4 F9DD<FBD<R, A4 >BFBDB= CDB6B8<FES >4C<F4?PAO= D9@BAF 



 

B5N9>FB6 >4C<F4?PAB7B EFDB<F9?PEF64, CD98EF46<F9?9= E4@BD97G?<DG9@B= BD74A<;4J<<, 4 F4>:9 A9 
8B?:9A CD9CSFEF6B64FP CDB6989A<R 6 BFABL9A<< A97B CDB69DB> E4@BD97G?<DG9@B= BD74A<;4J<< 6 
D4@>4I <ECB?A9A<S D45BF CB  GA<J<C4?PAB@G >BAFD4>FG. 

6.2.15. !9 CD9CSFEF6B64FP CDB6989A<R 6 BFABL9A<< A97B CDB69DB>, BEGM9EF6?S9@OI 
�4>4;K<>B@, 7?46AO@ D4ECBDS8<F9?9@ 5R8:9FAOI ED98EF6 < >BAFDB?PAO@< BD74A4@< 6 D4@>4I 
<ECB?A9A<S B5S;4F9?PEF6 CB  GA<J<C4?PAB@G >BAFD4>FG. 

6.2.16. � F9K9A<9 5 (CSF<) D45BK<I 8A9= E 84FO ;4>?RK9A<S  GA<J<C4?PAB7B >BAFD4>F4 
CD98BEF46<FP �4>4;K<>G <AHBD@4J<R B EC9J<4?<EF4I, E6989A<S B >BFBDOI 6>?RK9AO 6 
!4J<BA4?PAO= D99EFD EC9J<4?<EFB6 6 B5?4EF< EFDB<F9?PEF64, E G>4;4A<9@ (.�.". 

6.2.17. �4>?RK<FP 8B7B6BD E «�4>4;K<>B@» A4 6B;@9M9A<9 ;4FD4F (D4EIB8B6) A4 CB>GC>G (CB 
BC?4F9) >B@@GA4?PAOI D9EGDEB6 (IB?B8AB7B 6B8BEA45:9A<S < Q?9>FDBEA45:9A<S) 6 C9D<B8 
6OCB?A9A<S D45BF CB  GA<J<C4?PAB@G >BAFD4>FG. 
         6.2.18.� F9K9A<9 2-I D45BK<I 8A9= E 84FO CB8C<E4A<S  GA<J<C4?PAB7B >BAFD4>F4, #B8DS8K<> 
CD<A<@49F BF �4>4;K<>4 CB 4>FG CD<ё@4-C9D984K< EFDB<F9?PAGR C?BM48>G, 4 F4>:9 8B>G@9AFO 

>BFBDO9 BCD989?9AO CD<?B:9A<9@ >  GA<J<C4?PAB@G >BAFD4>FG, S6?SRM<@ES 97B A9BFN9@?9@B= 
K4EFPR, CB8C<E4FP G>4;4AAO= 4>F CD<ё@4-C9D984K< ?<5B A4CD46<FP @BF<6<DB64AAO= BF>4; �4>4;K<>G 
BF 97B CB8C<E4A<S E G>4;4A<9@ CD<K<A F4>B7B BF>4;4.  
        6.2.19. �OFP K?9AB@ E4@BD97G?<DG9@B= BD74A<;4J<< 6 B5?4EF< EFDB<F9?PEF64, D9>BAEFDG>J<<, 
>4C<F4?PAB7B D9@BAF4 B5N9>FB6 >4C<F4?PAB7B EFDB<F9?PEF64.  
        6.2.20. � F9K9A<< 2-I D45BK<I 8A9= E @B@9AF4 ;4>?RK9A<S  GA<J<C4?PAB7B >BAFD4>F4 
CD98BEF46<FP �4>4;K<>G 7D4H<> 6OCB?A9A<S D45BF. 
        6.2.21. #B B>BAK4A<R 6OCB?A9A<S D45BF C9D984FP �4>4;K<>G CB 4>FG CD<ё@4-C9D984K< 
EFDB<F9?PAGR C?BM48>G. 

7. "&��&%&��!!"%&0 %&"$"!. "�%&"/&��0%&�� !�#$�"�"�� "� %��/ 

7.1. � E?GK49 CDBEDBK>< <ECB?A9A<S �4>4;K<>B@ B5S;4F9?PEF6, CD98GE@BFD9AAOI 
 GA<J<C4?PAO@ >BAFD4>FB@, 4 F4>:9 6 <AOI E?GK4SI A9<ECB?A9A<S <?< A9A48?9:4M97B <ECB?A9A<S 
�4>4;K<>B@ B5S;4F9?PEF6, CD98GE@BFD9AAOI  GA<J<C4?PAO@ >BAFD4>FB@, #B8DS8K<> 6CD469 
CBFD95B64FP GC?4FO A9GEFB9> (LFD4HB6, C9A9=). #9AS A4K<E?S9FES ;4 >4:8O= 89AP CDBEDBK>< 
<ECB?A9A<S �4>4;K<>B@ B5S;4F9?PEF64, CD98GE@BFD9AAB7B  GA<J<C4?PAO@ >BAFD4>FB@, A4K<A4S EB 
8AS, E?98GRM97B CBE?9 8AS <EF9K9A<S GEF4AB6?9AAB7B  GA<J<C4?PAO@ >BAFD4>FB@ EDB>4 
<ECB?A9A<S B5S;4F9?PEF64. #D< QFB@ D4;@9D C9A< GEF4A46?<649FES 6 D4;@9D9 B8AB= FD9IEBFB= 
89=EF6GRM9= A4 84FG GC?4FO C9A9= >?RK96B= EF46>< &9AFD4?PAB7B 54A>4 $BEE<=E>B= (989D4J<< BF 
A9 GC?4K9AAB= 6 EDB> EG@@O.  

�4 >4:8O= H4>F A9<ECB?A9A<S �4>4;K<>B@ B5S;4F9?PEF6, CD98GE@BFD9AAOI  GA<J<C4?PAO= 
>BAFD4>F B@, ;4 <E>?RK9A<9@ CDBEDBK>< <ECB?A9A<S B5S;4F9?PEF6 #B8DS8K<> 6CD469 6;OE>4FP E 
�4>4;K<>4 LFD4H 6 D4;@9D9: 
4) 1000 DG5?9=, 9E?< J9A4  GA<J<C4?PAB7B >BAFD4>F4 A9 CD96OL49F 3 @?A. DG5?9= (6>?RK<F9?PAB); 
5) 5000 DG5?9=, 9E?< J9A4  GA<J<C4?PAB7B >BAFD4>F4 EBEF46?S9F BF 3 @?A. DG5?9= 8B 50 @?A. DG5?9= 
(6>?RK<F9?PAB); 
6) 10000 DG5?9=, 9E?< J9A4  GA<J<C4?PAB7B >BAFD4>F4 EBEF46?S9F BF 50 @?A. DG5?9= 8B 100 @?A. 
DG5?9= (6>?RK<F9?PAB); 
7) 100000 DG5?9=, 9E?< J9A4  GA<J<C4?PAB7B >BAFD4>F4 CD96OL49F 100 @?A. DG5?9=. 

7.2. � E?GK49 CDBEDBK>< <ECB?A9A<S #B8DS8K<>B@ B5S;4F9?PEF6, CD98GE@BFD9AAOI 
 GA<J<C4?PAO@ >BAFD4>FB@ (6 FB@ K<E?9 74D4AF<=AB7B B5S;4F9?PEF64), 4 F4>:9 6 <AOI E?GK4SI 
A9<ECB?A9A<S <?< A9A48?9:4M97B <ECB?A9A<S #B8DS8K<>B@ B5S;4F9?PEF6, CD98GE@BFD9AAOI 
 GA<J<C4?PAO@ >BAFD4>FB@, �4>4;K<> A4CD46?S9F #B8DS8K<>G FD95B64A<9 B5 GC?4F9 A9GEFB9> 
(LFD4HB6, C9A9=). 
'C?4F4 A9GEFB9> (LFD4HB6, C9A9=) BEGM9EF6?S9FES #B8DS8K<>B@ 6 F9K9A<9 10 >4?9A84DAOI 8A9= E 
@B@9AF4 CB?GK9A<S FD95B64A<S B5 GC?4F9 A9GEFB9> (LFD4HB6, C9A9=) CB E?98GRM<@ D9>6<;<F4@:  
�!!: 9110089713 �##: 911001001 "�& " :35712000 
�4A>: "&����!�� $�%#'����� �$Ы  ��!�� $"%%��//'(� CB $9ECG5?<>9 �DO@, 
 7. %<@H9DBCB?P 
���: 013510002 



 

��%: 40102810645370000035 
�%: 03100643000000017500 
?/E: 20756Щ96610, 21756Щ96610 
#B?GK4F9?P:  GA<J<C4?PAB9 5R8:9FAB9 GKD9:89A<9 >G?PFGDO «�6C4FBD<=E>4S J9AFD4?<;B64AA4S 
5<5?<BF9KA4S E<EF9@4»). 

#9AS A4K<E?S9FES ;4 >4:8O= 89AP CDBEDBK>< <ECB?A9A<S #B8DS8K<>B@ B5S;4F9?PEF64, 
CD98GE@BFD9AAB7B  GA<J<C4?PAO@ >BAFD4>FB@, A4K<A4S EB 8AS, E?98GRM97B CBE?9 8AS <EF9K9A<S 
GEF4AB6?9AAB7B  GA<J<C4?PAO@ >BAFD4>FB@ EDB>4 <ECB?A9A<S B5S;4F9?PEF64, 6 D4;@9D9 B8AB= 
FD9IEBFB= 89=EF6GRM9= A4 84FG GC?4FO C9A< >?RK96B= EF46>< &9AFD4?PAB7B 54A>4 $BEE<=E>B= 
(989D4J<< BF J9AO  GA<J<C4?PAB7B >BAFD4>F4 (BF89?PAB7B QF4C4 <ECB?A9A<S  GA<J<C4?PAB7B 
>BAFD4>F4), G@9APL9AAB= A4 EG@@G, CDBCBDJ<BA4?PAGR B5N9@G B5S;4F9?PEF6, CD98GE@BFD9AAOI 
 GA<J<C4?PAO@ >BAFD4>FB@ (EBBF69FEF6GRM<@ BF89?PAO@ QF4CB@ <ECB?A9A<S  GA<J<C4?PAB7B 
>BAFD4>F4) < H4>F<K9E>< <ECB?A9AAOI #B8DS8K<>B@, ;4 <E>?RK9A<9@ E?GK496, 9E?< 
;4>BAB84F9?PEF6B@ $BEE<=E>B= (989D4J<< GEF4AB6?9A <AB= CBDS8B> A4K<E?9A<S C9A<. 

7.3. �4 >4:8O= H4>F A9<ECB?A9A<S <?< A9A48?9:4M97B <ECB?A9A<S #B8DS8K<>B@ 
B5S;4F9?PEF6, CD98GE@BFD9AAOI  GA<J<C4?PAO@ >BAFD4>FB@, ;4 <E>?RK9A<9@ CDBEDBK>< 
<ECB?A9A<S B5S;4F9?PEF6 (6 FB@ K<E?9 74D4AF<=AB7B B5S;4F9?PEF64), CD98GE@BFD9AAOI 
 GA<J<C4?PAO@ >BAFD4>FB@, #B8DS8K<> 6OC?4K<649F �4>4;K<>G LFD4H 6 D4;@9D9 (;4 <E>?RK9A<9@ 
E?GK496, G>4;4AAOI 6 C. 7.4 – 7.6 A4EFBSM97B  GA<J<C4?PAB7B >BAFD4>F4). 
4) 10 CDBJ9AFB6 J9AO  GA<J<C4?PAB7B >BAFD4>F4 (QF4C4) 6 E?GK49, 9E?< J9A4  GA<J<C4?PAB7B 
>BAFD4>F4 (QF4C4) A9 CD96OL49F 3 @?A. DG5?9=; 
5) 5 CDBJ9AFB6 J9AO  GA<J<C4?PAB7B >BAFD4>F4 (QF4C4) 6 E?GK49, 9E?< J9A4  GA<J<C4?PAB7B 
>BAFD4>F4 (QF4C4) EBEF46?S9F BF 3 @?A. DG5?9= 8B 50 @?A. DG5?9= (6>?RK<F9?PAB); 
6) 1 CDBJ9AF J9AO  GA<J<C4?PAB7B >BAFD4>F4 (QF4C4) 6 E?GK49, 9E?< J9A4  GA<J<C4?PAB7B >BAFD4>F4 
(QF4C4) EBEF46?S9F BF 50 @?A. DG5?9= 8B 100 @?A. DG5?9= (6>?RK<F9?PAB); 
7) 0,5 CDBJ9AF4 J9AO  GA<J<C4?PAB7B >BAFD4>F4 (QF4C4) 6 E?GK49, 9E?< J9A4  GA<J<C4?PAB7B 
>BAFD4>F4 (QF4C4) EBEF46?S9F BF 100 @?A. DG5?9= 8B 500 @?A. DG5?9= (6>?RK<F9?PAB); 
8) 0,4 CDBJ9AF4 J9AO  GA<J<C4?PAB7B >BAFD4>F4 (QF4C4) 6 E?GK49, 9E?< J9A4  GA<J<C4?PAB7B 
>BAFD4>F4 (QF4C4) EBEF46?S9F BF 500 @?A. DG5?9= 8B 1 @?D8. DG5?9= (6>?RK<F9?PAB); 
9) 0,3 CDBJ9AF4 J9AO  GA<J<C4?PAB7B >BAFD4>F4 (QF4C4) 6 E?GK49, 9E?< J9A4  GA<J<C4?PAB7B 
>BAFD4>F4 (QF4C4) EBEF46?S9F BF 1 @?D8. DG5?9= 8B 2 @?D8. DG5?9= (6>?RK<F9?PAB); 
:) 0,25 CDBJ9AF4 J9AO  GA<J<C4?PAB7B >BAFD4>F4 (QF4C4) 6 E?GK49, 9E?< J9A4  GA<J<C4?PAB7B 
>BAFD4>F4 (QF4C4) EBEF46?S9F BF 2 @?D8. DG5?9= 8B 5 @?D8. DG5?9= (6>?RK<F9?PAB); 
;) 0,2 CDBJ9AF4 J9AO  GA<J<C4?PAB7B >BAFD4>F4 (QF4C4) 6 E?GK49, 9E?< J9A4  GA<J<C4?PAB7B 
>BAFD4>F4 (QF4C4) EBEF46?S9F BF 5 @?D8. DG5?9= 8B 10 @?D8. DG5?9= (6>?RK<F9?PAB); 
<) 0,1 CDBJ9AF4 J9AO  GA<J<C4?PAB7B >BAFD4>F4 (QF4C4) 6 E?GK49, 9E?< J9A4  GA<J<C4?PAB7B 
>BAFD4>F4 (QF4C4) CD96OL49F 10 @?D8. DG5?9=. 

7.4. �4 >4:8O= H4>F A9<ECB?A9A<S <?< A9A48?9:4M97B <ECB?A9A<S #B8DS8K<>B@ 
B5S;4F9?PEF6, CD98GE@BFD9AAOI  GA<J<C4?PAO@ >BAFD4>FB@, ;4>?RK9AAO@ CB D9;G?PF4F4@ 
BCD989?9A<S #B8DS8K<>4 6 EBBF69FEF6<< E CGA>FB@ 1 K4EF< 1 EF4FP< 30 (989D4?PAB7B ;4>BA4 «" 
>BAFD4>FAB= E<EF9@9 6 EH9D9 ;4>GCB> FB64DB6, D45BF, GE?G7 8?S B59EC9K9A<S 7BEG84DEF69AAOI < 
@GA<J<C4?PAOI AG:8» (84?99 – �4>BA № (�-44), ;4 <E>?RK9A<9@ CDBEDBK>< <ECB?A9A<S 
B5S;4F9?PEF6 (6 FB@ K<E?9 74D4AF<=AB7B B5S;4F9?PEF64), CD98GE@BFD9AAOI  GA<J<C4?PAO@ 

>BAFD4>FB@, #B8DS8K<> GC?4K<649F �4>4;K<>G LFD4H 6 D4;@9D9 1 CDBJ9AF4 J9AO  GA<J<C4?PAB7B 
>BAFD4>F4 (QF4C4), AB A9 5B?99 5 FOE. DG5?9= < A9 @9A99 1 FOE. DG5?9=.. 

7.5. �4 >4:8O= H4>F A9<ECB?A9A<S <?< A9A48?9:4M97B <ECB?A9A<S #B8DS8K<>B@ 
B5S;4F9?PEF6, CD98GE@BFD9AAOI  GA<J<C4?PAO@ >BAFD4>FB@, ;4>?RK9AAO@ E CB598<F9?9@ ;4>GC>< 
(<?< E <AO@ GK4EFA<>B@ ;4>GC>< 6 E?GK4SI, GEF4AB6?9AAOI �4>BAB@ № 44-(�), CD98?B:<6L<@ 
A4<5B?99 6OEB>GR J9AG ;4 CD46B ;4>?RK9A<S  GA<J<C4?PAB7B >BAFD4>F4, ;4 <E>?RK9A<9@ CDBEDBK>< 
<ECB?A9A<S B5S;4F9?PEF6 (6 FB@ K<E?9 74D4AF<=AB7B B5S;4F9?PEF64), CD98GE@BFD9AAOI 
 GA<J<C4?PAO@ >BAFD4>FB@, #B8DS8K<> GC?4K<649F �4>4;K<>G LFD4H 6 D4;@9D9: 
4) 6 E?GK49, 9E?< J9A4  GA<J<C4?PAB7B >BAFD4>F4 A9 CD96OL49F A4K4?PAGR (@4>E<@4?PAGR) J9AG 
 GA<J<C4?PAB7B >BAFD4>F4: 



 

10 CDBJ9AFB6 A4K4?PAB= (@4>E<@4?PAB=) J9AO  GA<J<C4?PAB7B >BAFD4>F4, 9E?< J9A4 
 GA<J<C4?PAB7B >BAFD4>F4 A9 CD96OL49F 3 @?A. DG5?9=; 
5 CDBJ9AFB6 A4K4?PAB= (@4>E<@4?PAB=) J9AO  GA<J<C4?PAB7B >BAFD4>F4, 9E?< J9A4 
 GA<J<C4?PAB7B >BAFD4>F4 EBEF46?S9F BF 3 @?A. DG5?9= 8B 50 @?A. DG5?9= (6>?RK<F9?PAB); 
1 CDBJ9AF A4K4?PAB= (@4>E<@4?PAB=) J9AO  GA<J<C4?PAB7B >BAFD4>F4, 9E?< J9A4  GA<J<C4?PAB7B 
>BAFD4>F4 EBEF46?S9F BF 50 @?A. DG5?9= 8B 100 @?A. DG5?9= (6>?RK<F9?PAB); 
5) 6 E?GK49, 9E?< J9A4  GA<J<C4?PAB7B >BAFD4>F4 CD96OL49F A4K4?PAGR (@4>E<@4?PAGR) J9AG 
 GA<J<C4?PAB7B >BAFD4>F4: 
10 CDBJ9AFB6 J9AO  GA<J<C4?PAB7B >BAFD4>F4, 9E?< J9A4  GA<J<C4?PAB7B >BAFD4>F4 A9 CD96OL49F 
3 @?A. DG5?9=; 
5 CDBJ9AFB6 J9AO  GA<J<C4?PAB7B >BAFD4>F4, 9E?< J9A4  GA<J<C4?PAB7B >BAFD4>F4 EBEF46?S9F BF 
3 @?A. DG5?9= 8B 50 @?A. DG5?9= (6>?RK<F9?PAB); 
1 CDBJ9AF J9AO  GA<J<C4?PAB7B >BAFD4>F4, 9E?< J9A4  GA<J<C4?PAB7B >BAFD4>F4 EBEF46?S9F BF 50 
@?A. DG5?9= 8B 100 @?A. DG5?9= (6>?RK<F9?PAB). 

7.6. �4 >4:8O= H4>F A9<ECB?A9A<S <?< A9A48?9:4M97B <ECB?A9A<S #B8DS8K<> B@ 
B5S;4F9?PEF64, CD98GE@BFD9AAB7B  GA<J<C4?PAO@ >BAFD4>FB@, >BFBDB9 A9 <@99F EFB<@BEFAB7B 
6OD4:9A<S, #B8DS8K<> GC?4K<649F �4>4;K<>G LFD4H 6 D4;@9D9: 
4) 1000 DG5?9=, 9E?< J9A4  GA<J<C4?PAB7B >BAFD4>F4 A9 CD96OL49F 3 @?A. DG5?9=; 
5) 5000 DG5?9=, 9E?< J9A4  GA<J<C4?PAB7B >BAFD4>F4 EBEF46?S9F BF 3 @?A. DG5?9= 8B 50 @?A. DG5?9= 
(6>?RK<F9?PAB); 
6) 10000 DG5?9=, 9E?< J9A4  GA<J<C4?PAB7B >BAFD4>F4 EBEF46?S9F BF 50 @?A. DG5?9= 8B 100 @?A. 
DG5?9= (6>?RK<F9?PAB); 
7) 100000 DG5?9=, 9E?< J9A4  GA<J<C4?PAB7B >BAFD4>F4 CD96OL49F 100 @?A. DG5?9=. 

7.7. #D< A9<ECB?A9A<< #B8DS8K<>B@ 6 A4;A4K9AAO= EDB> FD95B64A<S B5 GEFD4A9A<< 
A98BEF4F>B6 (89H9>FB6) 6OCB?A9AAOI D45BF, #B8DS8K<> B5S;4A CB FD95B64A<R �4>4;K<>4 6B;@9EF<FP 
�4>4;K<>G D4EIB8O, CBA9E9AAO9 <@ A4 GEFD4A9A<9 A98BEF4F>B6 (89H9>FB6) 6OCB?A9AAOI 
#B8DS8K<>B@ D45BF, 4 F4>:9 GC?4F<FP LFD4H 6 D4;@9D9, G>4;4AAB@ 6 C. 7.3 A4EFBSM97B 
 GA<J<C4?PAB7B >BAFD4>F4. 

7.8. %FBDBA4 BE6B5B:849FES BF GC?4FO A9GEFB=>< (LFD4H4, C9A<), 9E?< 8B>4:9F, KFB 
A9<ECB?A9A<9 <?< A9A48?9:4M99 <ECB?A9A<9 B5S;4F9?PEF64, CD98GE@BFD9AAB7B  GA<J<C4?PAO@ 

>BAFD4>FB@, CDB<;BL?B 6E?98EF6<9 A9CD9B8B?<@B= E<?O <?< CB 6<A9 8DG7B= %FBDBAO. 
7.9. � B5EFBSF9?PEF64@ A9CD9B8B?<@B= E<?O BFABESFES EB5OF<S, A4 >BFBDO9 %FBDBAO A9 @B7GF 

B>4;O64FP 6?<SA<9 < ;4 6B;A<>AB69A<9 >BFBDOI BF69FEF69AABEF< A9 A9EGF (;9@?9FDSE9A<9, 
A46B8A9A<9, CB:4D, < 8DG7<9 EF<I<=AO9 598EF6<S, CD<ASF<9 BD74A4@< ;4>BAB84F9?PAB= 6?4EF< 
B7D4A<K<F9?PAOI ABD@ CD464 < 8DG7<9). '>4;4AAO9 EB5OF<S 8B?:AO B>4;O64FP CDS@B9 6?<SA<9 A4 
A96B;@B:ABEFP A48?9:4M97B <ECB?A9A<S %FBDBA4@< CD<ASFOI B5S;4F9?PEF6 CB  GA<J<C4?PAB@G 
>BAFD4>FG. � F4><@ B5EFBSF9?PEF64@ A9 BFABESFES A4DGL9A<9 B5S;4AABEF9= EB EFBDBAO >BAFD479AFB6 
#B8DS8K<>4, BFEGFEF6<9 A4 DOA>9 AG:AOI 8?S <ECB?A9A<S FB64DB6, @4F9D<4?B6, BFEGFEF6<9 
A9B5IB8<@OI 89A9:AOI ED98EF6. 
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 - %!<# 12-03-2001 «" CD<ASF<< EFDB<F9?PAOI ABD@ < CD46<? $BEE<=E>B= (989D4J<< 
«�9;BC4EABEFP FDG84 6 EFDB<F9?PEF69» (K4EFP 1, B5M<9 FD95B64A<S), GF69D:89AAB7B      
#BEF4AB6?9A<9@    �BEEFDBS $BEE<< BF 23.07.2001 № 80 

- %!<# 12-04-2002 «" CD<ASF<< EFDB<F9?PAOI ABD@ < CD46<? $BEE<=E>B= (989D4J<< 
«�9;BC4EABEFP FDG84 6 EFDB<F9?PEF69» (K4EFP 2, EFDB<F9?PAB9 CDB<;6B8EF6B), GF69D:89AAB7B      
#BEF4AB6?9A<9@    �BEEFDBS $BEE<< BF17.09.2002 №123 

- «#D46<? CDBF<6BCB:4DAB7B D9:<@4 6 $BEE<=E>B= (989D4J<<», GF69D:89AAOI CBEF4AB6?9A<9@ 
#D46<F9?PEF64 $( BF 16.09.2020 № 1479; 

- #D< D45BF9 A4 6OEBF9 – DG>B6B8EF6B64FPES FD95B64A<S@< 59;BC4EABEF<, <;?B:9AAO@< 6 
<AEFDG>J<< «#B BID4A9 FDG84 F9IA<>< 59;BC4EABEF< CD< <;7BFB6?9A<< < Q>EC?G4F4J<< C9D9ABEAOI 
< CD<EF46AOI ?9EFA<J EFD9@SAB>», %!<# 12-03-2001, 4 F4>:9 FD95B64A<S@< «#D46<? CB BID4A9 FDG84 
CD< D45BF9 A4 6OEBF9», GF69D:89AAOI #D<>4;B@  <AFDG84 $BEE<< BF 16.11.2020 № 782A; 

-  9DBCD<SF<S CB BID4A9 FDG84 – BID4A4 FDG84 D45BK<I 8B?:A4 B59EC9K<64FPES 6O84K9= 
A9B5IB8<@OI ED98EF6 <A8<6<8G4?PAB= ;4M<FO (>4E><, EC9J<4?PA4S B89:84, B5G6P < F.8.), 
6OCB?A9A<9@ @9DBCD<SF<= CB >B??9>F<6AB= ;4M<F9 D45BF4RM<I (B7D4:89A<S, BE69M9A<S, ;4M<FAO9 
< CD98BID4A<F9?PAO9 GEFDB=EF64). "D74A<;4J<S EFDB<F9?PAB= C?BM48><, 8?S 6989A<S A4 A9= D45BF, 
8B?:A4 B59EC9K<64FP 59;BC4EABEFP FDG84 D45BF4RM<I A4 6E9I QF4C4I 6OCB?A9A<S @BAF4:AOI D45BF 
6 EBBF69FEF6<< E FD95B64A<S@< %!<# 12-04-2001, �"%& 12.2.013.0-91 %%�&. 

2. 'K<FO64S CB?B:9A<S  CGA>F4  2  K4EF< 1 EF4FP< 33 �4>BA4 B >BAFD4>FAB= E<EF9@9 < CBE>B?P>G 
F9IA<K9E><9 D97?4@9AFO, EF4A84DFO < <AO9 FD95B64A<S, CD98GE@BFD9AAO9 ;4>BAB84F9?PEF6B@ 
$BEE<=E>B= (989D4J<< B F9IA<K9E>B@ D97G?<DB64A<< A9 @B7GF 6 CB?AB= @9D9 BI64F<FP 6E9 
A9B5IB8<@O9 ;4>4;K<>G HGA>J<BA4?PAO9, F9IA<K9E><9, >4K9EF69AAO9, Q>EC?G4F4J<BAAO9 
I4D4>F9D<EF<>< B5N9>F4 ;4>GC><, CD<B5D9F49@B7B FB64D4, 4 F4>:9 FB64D4, <ECB?P;G9@B7B CD< 



 

6OCB?A9A<< D45BF < B>4;4A<< GE?G7, <;69M9A<9 @B:9F EB89D:4FP <AO9 FD95B64A<S (CB>4;4F9?<, 
GE?B6AO9 B5B;A4K9A<S, F9D@<AB?B7<R), GEF4A46?<649@O9 ;4>4;K<>B@ > B5N9>FG ;4>GC><. 

&D95B64A<S �4>4;K<>4 D4;D45BF4AO E GK9FB@ CBFD95ABEF<, EC9J<H<>< BEGM9EF6?S9@B= 
89SF9?PABEF< < A4CD46?9AABEFPR CD<@9A9A<S ;4>GC49@OI @4F9D<4?B6. 

� E?GK49 G>4;4A<S 6 <;69M9A<< A4 EF4A84DFO (�"%&Ы, %!�# < F.8.), >BFBDO9 GFD4F<?< E<?G A4 
F9DD<FBD<< $BEE<=E>B= (989D4J<<, GK4EFA<>G ;4>GC>< A9B5IB8<@B DG>B6B8EF6B64FPES 
89=EF6GRM<@< EF4A84DF4@<, 6 FB@ K<E?9 EF4A84DF4@< (�"%&Ы, %!�# < F.8.), >BFBDO@< 5O?< 
;4@9A9AO D4A99 89=EF6GRM<9. 

&@51>20=8S : A40G5 @01>B: 

1. $45BFO 8B?:AO 5OFP 6OCB?A9AO 6 GEF4AB6?9AAO= EDB>. 
2. #DB69D>4 D45BF, 6OCB?AS9@OI #B8DS8K<>B@, CDB<;6B8<FES �4>4;K<>B@ A4 CDBFS:9A<< 6E97B 
EDB>4 89=EF6<S �BAFD4>F4. �BAFDB?PAO9 @9DBCD<SF<S CDB6B8SFES �4>4;K<>B@ CGF9@ <;GK9A<S 
8B>G@9AF4J<< #B8DS8K<>4, B5E?98B64A<= < CDB69DB> B5N9@B6, 6OCB?A9A<S F9IAB?B7<< < >4K9EF64 
D45BF. 

3. � E?GK49 6OS6?9A<S �4>4;K<>B@ A98BEF4F>B6 6OCB?A9AAOI D45BF, C9D9K9AP A4DGL9A<= < EDB>< <I 
GEFD4A9A<S G>4;O64RFES 6 EBBF69FEF6GRM9@ 4>F9. 

4. #B8DS8K<> B5S;4A GEFD4A<FP A4DGL9A<S, 6OS6?9AAO9 �4>4;K<>B@ 6 GEF4AB6?9AAO9 4>FB@ EDB><. 
5. #B8DS8K<> CD98EF46?S9F �4>4;K<>G >B@C?9>F BFK9FAB= 8B>G@9AF4J<<, EB7?4EAB GE?B6<S@ 
>BAFD4>F4. 

6. !9CD98EF46?9A<9 >B@C?9>F4 BFK9FAB= 8B>G@9AF4J<< S6?S9FES BEAB64A<9@ 8?S BF>4;4 �4>4;K<>4 BF 
CD<ASF<S D9;G?PF4FB6 6OCB?A9AAOI D45BF. 

7. � E?GK49 CB?GK9A<S BF �4>4;K<>4 ;4CDBE4 B CD98BEF46?9A<< D4;NSEA9A<= >4E4F9?PAB D9;G?PF4FB6 
D45BF, <?< @BF<6<DB64AAB7B BF>4;4 BF CD<ASF<S D9;G?PF4FB6 6OCB?A9AAOI D45BF, #B8DS8K<> 
B5S;4A CD98EF46<FP �4>4;K<>G ;4CD4L<649@O9 D4;NSEA9A<S 6 BFABL9A<< 6OCB?A9AAOI D45BF. 

8. "J9A>4 >4K9EF64 CDB<;6B8<FES 6 EBBF69FEF6<< E FD95B64A<S@<, <;?B:9AAO@< 6 @GA<J<C4?PAB@ 
>BAFD4>F9, A4 BEAB64A<< 6<;G4?PAB7B BE@BFD4. $45BF4 EK<F49FES A9 A48?9:4M9 6OCB?A9AAB=, 6 
E?GK49 BFEFGC?9A<S #B8DS8K<>B@ IBFS 5O BF B8AB7B FD95B64A<S, <;?B:9AAB7B 6 A4EFBSM9@ 
&9IA<K9E>B@ ;484A<<. 
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_________, <@9AG9@O= 6 84?PA9=L9@ «�4>4;K<>», 6 ?<J9 ________, 89=EF6GRM97B A4 BEAB64A<< 
__________, E B8AB= EFBDBAO, C9D984?, 4 ____________, <@9AG9@O= 6 84?PA9=L9@ «#B8DS8K<>», 6 
?<J9 _________, 89=EF6GRM97B A4 BEAB64A<< __________, E 8DG7B= EFBDBAO, CB8C<E4?< A4EFBSM<= 
�>F B A<:9E?98GRM9@: 
 

�4>4;K<> C9D984? #B8DS8K<>G, 4 #B8DS8K<> CD<AS? CB8 EFDB<F9?PAGR C?BM48>G B5N9>F, 
D4ECB?B:9AAO= CB 48D9EG: __________________________________. 

%FDB<F9?PA4S C?BM48>4 (B5N9>F) CB87BFB6?9A4 8?S CDB6989A<S D45BF CB >4C<F4?PAB@G D9@BAFG. !4 
C9D<B8 6OCB?A9A<S D45BF CB >4C<F4?PAB@G D9@BAFG #B8DS8K<> A9EёF BF69FEF69AABEFP ;4 EB5?R89A<9 
F9IA<>< 59;BC4EABEF<, CDBF<6BCB:4DAGR 59;BC4EABEFP A4 EFDB<F9?PAB= C?BM48>9 (B5N9>F9), ;4 
BID4AG EFDB<F9?PAB= C?BM48>< (B5N9>F4) 6>?RK4S ;4 EBID4AABEFP @4F9D<4?B6, <;89?<=, 
>BAEFDG>J<=, B5BDG8B64A<S, EFDB<F9?PAB= F9IA<>< < CDBK97B <@GM9EF64 #B8DS8K<>4, A4IB8SM97BES 
A4 EFDB<F9?PAB= C?BM48>9 (B5N9>F9). %FDB<F9?PA4S C?BM48>4 (B5N9>F) C9D984A4 A4 6D9@S 
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=5D=>-F5E=<G5E>>7> >55E?5G5=<O, ?5D5G5=L <=65=5D=>-
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E><E D5L5=<= 

 

3 5.1 10/ 09-2022-��%.1 
%<EF5<4 M?5>FD>E=4565=<O. -?5>FD>>5>DG4>64=<5 < 

M?5>FD>>E65M5=<5. 
 

4 5.2 10/ 09-2022-��%.2 %<EF5<4 6>4>E=4565=<O  

5 5.3 10/ 09-2022-��%.3 %<EF5<4 6>4>>F6545=<O  

6 5.4 10/ 09-2022-��%.4 
�F>??5=<5, 65=F<?OF<O < >>=4<F<>=<D>64=<5 6>74GE4, 

F5??>6O5 E5F<. 
 

7 5.5 10/ 09-2022-%�% %FDG>FGD<D>64==O5 >455?L=O5 E5F<  

8 5.6 10/ 09-2022-%�& %<EF5<4 >ED4==>7> F5?56<45=<O  

9 5.7 10/ 09-2022-%�'� %<EF5<4 >>=FD>?O < G?D46?5=<O 4>EFG?><  

10 5.8 10/ 09-2022-���% 

�6F><4F<G5E>4O >ED4==>-?>64D=4O E<7=4?<74F<O < 

E<EF5<4 >?>65M5=<O > 

?>64D5 < G?D46?5=<O M64>G4F<5= ?N45= 

 

11 5.9 10/ 09-2022-�%    �ED4==4O E<7=4?<74F<O  

12 6 10/ 09-2022-���$ �D>5>F >D74=<74F<< >4?<F4?L=>7> D5<>=F4  

13 10 10/ 09-2022-��� �5D>?D<OF<O ?> >55E?5G5=<N 4>EFG?4 <=64?<4>6  

14 11 10/ 09-2022-%� 
%<5F4 =4 EFD><F5?LEF6> >5N5>F>6 >4?<F4?L=>7> 

EFD><F5?LEF64. 
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%>45D64=<5 

4) $5>6<7<FO >4=>7> <7 E?54GNM<E 4>>G<5=F>6, =4 >E=>64=<< >>F>DOE ?D<=OF> 

D5L5=<5 > D47D45>F>5 ?D>5>F=>= 4>>G<5=F4F<<: D5L5=<5 74EFD>=M<>4. 

5) �EE>4=O5 44==O5 < GE?>6<O 4?O ?>47>F>6>< ?D>5>F=>= 4>>G<5=F4F<< =4 >5N-

5>F >4?<F4?L=>7> EFD><F5?LEF64. 

6) %6545=<O > DG=>F<>=4?L=>< =47=4G5=<< >5N5>F4 >4?<F4?L=>7> EFD><F5?LEF64, 

E>EF46 < E4D4>F5D<EF<>G ?D><76>4EF64, =><5=>?4FGDG 6O?GE>45<>= ?D>4G>F<<. 

7) %6545=<O > ?>FD55=>EF< >5N5>F4 >4?<F4?L=>7> EFD><F5?LEF64 6 F>??<65, 6>45 

< M?5>FD<G5E>>= M=5D7<<. 

4) �4==O5 > ?D>5>F=>= <>M=>EF< >5N5>F4 >4?<F4?L=>7> EFD><F5?LEF64 – 4?O 

>5N5>F>6 ?D><76>4EF65==>7> =47=4G5=<O. 

5) %6545=<O > EODL56>= 5475, ?>FD55=>EF< ?D><76>4EF64 6 6>45, F>??<6=>-

M=5D75F<G5E><E D5EGDE4E – 4?O >5N5>F>6 ?D><76>4EF65==>7> =47=4G5=<O. 

6) %6545=<O > >><??5>E=>< <E?>?L7>64=<< EODLO, 6F>D<G=OE M=5D7>D5EGDE>6, 

>FE>4>6 ?D><76>4EF64 – 4?O >5N5>F>6 ?D><76>4EF65==>7> =47=4G5=<O. 

6.1) %6545=<O >5 <E?>?L7>64=<< 6>7>5=>6?O5<OE <EF>G=<>>6 M=5D7<< < 6F>D<G-

=OE M=5D75F<G5E><E D5EGDE4E. 

7) %6545=<O > 75<5?L=OE GG4EF>4E, <7O<45<OE 4?O 7>EG44DEF65==OE <?< <G=<-

F<?4?L=OE =G64, > 75<5?L=OE GG4EF>4E, 6 >F=>L5=<< >>F>DOE GEF4=46?<645FEO 

E5D65FGF, ?G5?<G=O= E5D65FGF, >5>E=>64=<5 <7 D47<5D>6, 5E?< F4><5 D47<5DO =5 

GEF4=>6?5=O =>D<4<< >F6>44 75<5?L 4?O >>=>D5F=OE 6<4>6 45OF5?L=>EF<, <?< 

?D46<?4<< 75<?5?>?L7>64=<O < 74EFD>=><, <?< ?D>5>F4<< ??4=<D>6><, ?D>5>F4<< 

<56564=<O F5DD<F>D<<, - ?D< =5>5E>4<<>EF< <7NOF<O 75<5?L=>7> GG4EF>4 4?O 7>E-

G44DEF65==OE <?< <G=<F<?4?L=OE =G64, GEF4=>6?5=<O E5D65FGF4, ?G5?<G=>7> 

E5D65FGF4. 

<) %6545=<O > >4F57>D<< 75<5?L, =4 >>F>DOE D4E?>?4745FEO (5G45F D4E-

?>?474FLEO) >5N5>F >4?<F4?L=>7> EFD><F5?LEF64. 

>) %6545=<O > D47<5D5 ED54EF6, FD55GNM<EEO 4?O 6>7<5M5=<O ?D46>>5?444F5?O< 

75<5?L=OE GG4EF>>6 < (<?<) D4E?>?>65==OE =4 F4><E 75<5?L=OE GG4EF>4E >5N5>-

F>6 =546<6<<>7> <<GM5EF64 – 6 E?GG45 <E <7NOF<O 4?O 7>EG44DEF65==OE <?< <G-

=<F<?4?L=OE =G64. 

>.1) %6545=<O > D47<5D5 ED54EF6, FD55GNM<EEO 4?O 6>7<5M5=<O ?D46>>5?444F5-

?O< 75<5?L=OE GG4EF>>6 < (<?<) D4E?>?>65==OE =4 F4><E 75<5?L=OE GG4EF>4E 

>5N5>F>6 =546<6<<>7> <<GM5EF64 G5OF>>6 < (<?<) 6 >4G5EF65 ??4FO ?D46>>5?4-

44F5?O< 75<5?L=OE GG4EF>>6, - 6 E?GG45 GEF4=>6?5=<O E5D6<FGF4, ?G5?<G=>7> 

E5D6<FGF4 6 >F=>L5=<< F4><E 75<5?L=OE GG4EF>>6; 

 

?) %6545=<O >5 <E?>?L7>64==OE 6 ?D>5>F5 <7>5D5F5=<OE, D57G?LF4F4E ?D>6545=-

=OE ?4F5=F=OE <EE?54>64=<=; 
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<) &5E=<>>-M>>=><<G5E><5 ?>>474F5?< ?D>5>F<DG5<OE >5N5>F>6 >4?<F4?L=>7> 

EFD><F5?LEF64; 

 

=) %6545=<O > =4?<G<< D47D45>F4==OE < E>7?4E>64==OE E?5F<4?L=OE F5E=<G5-

E><E GE?>6<= - 6 E?GG45 =5>5E>4<<>EF< D47D45>F>< F4><E GE?>6<=; 

 

>) �4==O5 > ?D>5>F=>= <>M=>EF< >5N5>F4 >4?<F4?L=>7> EFD><F5?LEF64, 7=4G<<>-

EF< >5N5>F4 >4?<F4?L=>7> EFD><F5?LEF64 4?O ?>E5?5=<= (<G=<F<?4?L=>7> >5D4-

7>64=<O), 4 F4>65 > G<E?5==>EF< D45>F=<>>6 < <E ?D>D5EE<>=4?L=>-

>64?<D<>4F<>==>< E>EF465, G<E?5 D45>G<E <5EF (>D><5 6<?OE 744=<=) < 4DG7<5 

44==O5, E4D4>F5D<7GNM<5 >5N5>F >4?<F4?L=>7> EFD><F5?LEF64, - 4?O >5N5>F>6 

=5?D><76>4EF65==>7> =47=4G5=<O; 

 

?) %6545=<O > >><?LNF5D=OE ?D>7D4<<4E, >>F>DO5 <E?>?L7>64?<EL ?D< 6O?>?-

=5=<< D4EG5F>6 >>=EFDG>F<6=OE M?5<5=F>6 744=<=, EFD>5=<= < E>>DG65=<=; 

 

D) �5>E=>64=<5 6>7<>6=>EF< >EGM5EF6?5=<O EFD><F5?LEF64 >5N5>F4 >4?<F4?L=>-

7> EFD><F5?LEF64 ?> MF4?4< EFD><F5?LEF64 E 6O45?5=<5< MF<E MF4?>6 (?D< =5>5-

E>4<<>EF<); 

 

E) %6545=<O > ?D54?>?4745<OE 74FD4F4E, E6O74==OE E> E=>E>< 744=<= < E>>DG65-

=<=, ?5D5E5?5=<5< ?N45=, ?5D5=>E>< E5F5= <=65=5D=>-F5E=<G5E>>7> >55E?5G5-

=<O (?D< =5>5E>4<<>EF<); 

 

F) �465D5=<5 ?D>5>F=>= >D74=<74F<< > F><, GF> ?D>5>F=4O 4>>G<5=F4F<O D47D4-

5>F4=4 6 E>>F65FEF6<< E 7D44>EFD><F5?L=O< ??4=>< 75<5?L=>7> GG4EF>4, 7444=<-

5< =4 ?D>5>F<D>64=<5, 7D44>EFD><F5?L=O< D57?4<5=F><, 4>>G<5=F4<< >5 <E-

?>?L7>64=<< 75<5?L=>7> GG4EF>4 4?O EFD><F5?LEF64 (6 E?GG45 5E?< =4 75<5?L=O= 

GG4EF>> =5 D4E?D>EFD4=O5FEO 45=EF6<5 7D44>EFD><F5?L=>7> D57?4<5=F4 <?< 6 >F-

=>L5=<< 57> =5 GEF4=46?<645FEO 7D44>EFD><F5?L=O= D57?4<5=F), F5E=<G5E><<< 

D57?4<5=F4<<, 6 F>< G<E?5 GEF4=46?<64NM<<< FD55>64=<O ?> >55E?5G5=<N 557-

>?4E=>= M>E??G4F4F<< 744=<=, EFD>5=<=, E>>DG65=<= < 557>?4E=>7> <E?>?L7>64-

=<O ?D<?574NM<E > =<< F5DD<F>D<=, < E E>5?N45=<5< F5E=<G5E><E GE?>6<=. 
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�5M4O G4EFL:                                                                  

�D>5>F D47D45>F4= =4 >E=>64=<< E?54GNM<E 44==OE: 

– &5E=<G5E>>7> 7444=<O (?D<?>65=<5 > >>=FD4>FG) 

�D< ?D>5>F<D>64=<< GGF5=O FD55>64=<O E?54GNM<E =>D<4F<6=OE 4>>G<5=F>6: 

– �>EF4=>6?5=<5 ?D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 16 D56D4?O 20087 7 87 

«� E>EF465 D4745?>6 ?D>5>F=>= 4>>G<5=F4F<< < FD55>64=<O > <E E>45D64=<N»;  

– %� 31.13330.2012 «�>4>E=4565=<5. �4DG6=O5 E5F< < E>>DG65=<O»; 

– %�<� 3.05.04-85* «�4DG6=O5 E5F< < E>>DG65=<O 6>4>E=4565=<O < >4=4?<74-

F<<»; 

– %� 12-135-2003 «�57>?4E=>EFL FDG44 6 EFD><F5?LEF65. �FD4E?56O5 F<?>6O5 

<=EFDG>F<< ?> >ED4=5 FDG44»; 

– %�<� 12-04-2002 "�57>?4E=>EFL FDG44 6 EFD><F5?LEF65." 

– %� 40-102-2000 «�D>5>F<D>64=<5 < <>=F46 FDG5>?D>6>4>6 E<EF5< 6>4>E=45-

65=<O < >4=4?<74F<< <7 ?>?<<5D=OE <4F5D<4?>6. �5M<5 FD55>64=<O»;  

– ��%& 21.001-2013 %<EF5<4 ?D>5>F=>= 4>>G<5=F4F<< 4?O EFD><F5?LEF64 

(%��%). �5M<5 ?>?>65=<O 

– ��%& 21.206-2012 «'E?>6=O5 >5>7=4G5=<O FDG5>?D>6>4>6. 

– ��%& 21.704-2011 %<EF5<4 ?D>5>F=>= 4>>G<5=F4F<< 4?O EFD><F5?LEF64 

(%��%). �D46<?4 6O?>?=5=<O D45>G5= 4>>G<5=F4F<< =4DG6=OE E5F5= 6>4>E=45-

65=<O < >4=4?<74F<<. 

4) D5>6<7<FO >4=>7> <7 E?54GNM<E 4>>G<5=F>6, =4 >E=>64=<< >>F>DOE 

?D<=OF> D5L5=<5 > D47D45>F>5 ?D>5>F=>= 4>>G<5=F4F<<. 

 

–  &5E=<G5E>>7> 7444=<O (?D<?>65=<5 > >>=FD4>FG). 

5) <EE>4=O5 44==O5 < GE?>6<O 4?O ?>47>F>6>< ?D>5>F=>= 4>>G<5=F4F<< =4 

>5N5>F >4?<F4?L=>7> EFD><F5?LEF64. 

– &5E=<G5E>>7> 7444=<O (?D<?>65=<5 > >>=FD4>FG). 
 

6) E6545=<O > DG=>F<>=4?L=>< =47=4G5=<< >5N5>F4 >4?<F4?L=>7> EFD><F5?L-

EF64, E>EF46 < E4D4>F5D<EF<>G ?D><76>4EF64, =><5=>?4FGDG 6O?GE>45<>= 

?D>4G>F<<. 

 

�D>5>F>< ?D54GE<>FD5= >4?<F4?L=O= D5<>=F 45FE>>= 5<5?<>F5>< 76 <<5=< 

.. �474D<=4, D4E?>?>65==>= ?> 44D5EG: 297408, $$, $�, 7. �6?4F>D<O, G?. �5>D4-

E>64, 61. 

 

 

�5M4O ??>M44L 744=<O – 436,72 <.>6. 
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�45=F<D<>4F<>==O5 ?D<7=4>< 744=<O. 

 

N ??  

 

�D<7=4>  �45=F<D<>4F<O 

1 �47=4G5=<5 �5M5EF65==>5 744=<5 

2 �D<=44?56=>EFL > >5N5>F4< FD4=E?>DF-

=>= <=DD4EFDG>FGDO < > 4DG7<< >5N5>-

F4<, DG=>F<>=4?L=>-F5E=>?>7<G5E><5 

>E>55==>EF< >>F>DOE 6?<ONF =4 <E 557-

>?4E=>EFL. 

�5 ?D<=44?56<F. 

3 �>7<>6=>EFL >?4E=OE ?D<D>4=OE ?D>-

F5EE>6 < O6?5=<= < F5E=>75==OE 6>745=-

EF6<= =4 F5DD<F>D<<, =4 >>F>D>= 5G4GF 

>EGM5EF6?OFLEO EFD><F5?LEF6>, D5>>=-

EFDG>F<O < M>E??G4F4F<O 744=<O <?< E>-

>DG65=<O. 

�FEGFEF6G5F.  

 

4 �D<=44?56=>EFL > >?4E=O< ?D><76>4-

EF65==O< >5N5>F4<. 

�5 ?D<=44?56<F.  

 

5 �>64D=4O < 67DO6>?>64D=4O >?4E=>EFL.  

 

�?4EE E>>DG65=<O – 

�%2; 

%F5?5=L >7=5EF>=>>EF< 

744=<O – II; 

�?4EE >>=EFDG>F<6=>= 

?>64D=>= >?4E=>EF< – 

%1; 

�?4EE DG=>F<>=4?L=>= 

?>64D=>= >?4E=>EF< – 

$ 2.1; 

�?4EE ?>64D=>= >?4E-

=>EF< >>=EFDG>F<= �-0. 

6 �4?<G<5 ?><5M5=<= E ?>EF>O==O< ?D5-

5O64=<5< ?N45=. 

�><5M5=<O 744=<O D4E-

EG<F4=O =4 ?>EF>O==>5 

?D55O64=<5 ?N45=. 

 

 

7 'D>65=L >F65FEF65==>EF<. �>D<4?L=O=. 
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7) E6545=<O > ?>FD55=>EF< >5N5>F4 >4?<F4?L=>7> EFD><F5?LEF64 6 F>??<65, 

6>45 < M?5>FD<G5E>>= M=5D7<<. 

 

$4EE>4 =4 6>4>E=4565=<5 >5N5>F4 E>EF46?O5F =4: 

-E>7.?<FL56>= 6>4>?D>6>4  0,12  <3/EGF. 

$4EE>4 EF>>>6 E>7.5OF>6>= >4=4?<74F<< E>EF46?O5F 0,12 <3/EGF, 0,4 <
3
/G4E,  1,84 

?/E5>. 

�>FD55?5=<5 >5N5>F4 6 F5??5 E>EF46?O5F: 

-=4 >F>??5=<5  31,45 >�F. 

�>FD55?5=<5 M?5>FD>M=5D7<< 744=<O >EGM5EF6?O5FEO ?> III ��-%. 

$4EG5F=4O M?5>FD<G5E>4O <>M=>EFL >5N5>F4 E>EF46?O5F 15,0 >�F. 

 

�EF>G=<> F5??>E=4565=<O – 7>D>4E>4O F5??>E5FL. 

 

4) 44==O5 > ?D>5>F=>= <>M=>EF< >5N5>F4 >4?<F4?L=>7> EFD><F5?LEF64 – 4?O 

>5N5>F>6 ?D><76>4EF65==>7> =47=4G5=<O. 

�5 FD55G5FEO. 

 

5) E6545=<O > EODL56>= 5475, ?>FD55=>EF< ?D><76>4EF64 6 6>45, F>??<6=>-

M=5D75F<G5E><E D5EGDE4E – 4?O >5N5>F>6 ?D><76>4EF65==>7> =47=4G5=<O. 

�5 FD55G5FEO. 

 

6) E6545=<O > >><??5>E=>< <E?>?L7>64=<< EODLO, 6F>D<G=OE M=5D7>D5EGD-

E>6, >FE>4>6 ?D><76>4EF64 – 4?O >5N5>F>6 ?D><76>4EF65==>7> =47=4G5=<O. 

�5 FD55G5FEO. 

 

6.1) E6545=<O >5 <E?>?L7>64=<< 6>7>5=>6?O5<OE <EF>G=<>>6 M=5D7<< < 6F>-

D<G=OE M=5D75F<G5E><E D5EGDE4E. 

�5 FD55G5FEO. 

 

7) E6545=<O > 75<5?L=OE GG4EF>4E, <7O<45<OE 4?O 7>EG44DEF65==OE <?< <G-

=<F<?4?L=OE =G64, > 75<5?L=OE GG4EF>4E, 6 >F=>L5=<< >>F>DOE GEF4=46?<-

645FEO E5D65FGF, ?G5?<G=O= E5D65FGF, >5>E=>64=<5 <7 D47<5D>6, 5E?< F4><5 

D47<5DO =5 GEF4=>6?5=O =>D<4<< >F6>44 75<5?L 4?O >>=>D5F=OE 6<4>6 45O-

F5?L=>EF<, <?< ?D46<?4<< 75<?5?>?L7>64=<O < 74EFD>=><, <?< ?D>5>F4<< 

??4=<D>6><, ?D>5>F4<< <56564=<O F5DD<F>D<<, - ?D< =5>5E>4<<>EF< <7NO-

F<O 75<5?L=>7> GG4EF>4 4?O 7>EG44DEF65==OE <?< <G=<F<?4?L=OE =G64, 

GEF4=>6?5=<O E5D65FGF4, ?G5?<G=>7> E5D65FGF4. 

�5 FD55G5FEO. 

 

<) E6545=<O > >4F57>D<< 75<5?L, =4 >>F>DOE D4E?>?4745FEO (5G45F D4E-

?>?474FLEO) >5N5>F >4?<F4?L=>7> EFD><F5?LEF64. 

�5 FD55G5FEO. 
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>) E6545=<O > D47<5D5 ED54EF6, FD55GNM<EEO 4?O 6>7<5M5=<O ?D46>>5?444F5-

?O< 75<5?L=OE GG4EF>>6 < (<?<) D4E?>?>65==OE =4 F4><E 75<5?L=OE GG4EF-

>4E >5N5>F>6 =546<6<<>7> <<GM5EF64 – 6 E?GG45 <E <7NOF<O 4?O 7>EG44D-

EF65==OE <?< <G=<F<?4?L=OE =G64. 

�5 FD55G5FEO. 

 

>.1) E6545=<O > D47<5D5 ED54EF6, FD55GNM<EEO 4?O 6>7<5M5=<O ?D46>>5?4-

44F5?O< 75<5?L=OE GG4EF>>6 < (<?<) D4E?>?>65==OE =4 F4><E 75<5?L=OE 

GG4EF>4E >5N5>F>6 =546<6<<>7> <<GM5EF64 G5OF>>6 < (<?<) 6 >4G5EF65 

??4FO ?D46>>5?444F5?O< 75<5?L=OE GG4EF>>6, - 6 E?GG45 GEF4=>6?5=<O E5D-

6<FGF4, ?G5?<G=>7> E5D6<FGF4 6 >F=>L5=<< F4><E 75<5?L=OE GG4EF>>6; 

 �5 FD55G5FEO. 

 

?) E6545=<O >5 <E?>?L7>64==OE 6 ?D>5>F5 <7>5D5F5=<OE, D57G?LF4F4E ?D>65-

45==OE ?4F5=F=OE <EE?54>64=<=; 

�5 FD55G5FEO. 

 

<) F5E=<>>-M>>=><<G5E><5 ?>>474F5?< ?D>5>F<DG5<OE >5N5>F>6 >4?<F4?L-

=>7> EFD><F5?LEF64; 

 

 

 

 

 

 

 

 

7?/? �4<<5=>64=<5 ?>>474F5?O �4<=<F4 <7-

<5D5=<O  

�=4G5=<5 

1. �?>M44L 74EFD>=><: >6.< - 

2. �>?<G5EF6> MF465=: 

-744=<5 

MF46 1 

 

3. %FD><F5?L=O= >5N5<: >G5.< 1157,31 

4. �5M4O ??>M44L ?><5M5=<= >6.< 436,72 

5. %F5?5=L >7=5EF>=>>EF< 744=<O  II 

6. �?4EE >>=EFDG>F<6=>= ?>64D-

=>= >?4E=>EF< 

 C1 

7. 'D>65=L >F65FEF65==>EF<   =>D<4?L=O= 
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=) E6545=<O > =4?<G<< D47D45>F4==OE < E>7?4E>64==OE E?5F<4?L=OE F5E-

=<G5E><E GE?>6<= - 6 E?GG45 =5>5E>4<<>EF< D47D45>F>< F4><E GE?>6<=; 

      �5 FD55G5FEO. 

 

>) 44==O5 > ?D>5>F=>= <>M=>EF< >5N5>F4 >4?<F4?L=>7> EFD><F5?LEF64, 7=4-

G<<>EF< >5N5>F4 >4?<F4?L=>7> EFD><F5?LEF64 4?O ?>E5?5=<= (<G=<F<?4?L-

=>7> >5D47>64=<O), 4 F4>65 > G<E?5==>EF< D45>F=<>>6 < <E ?D>D5EE<>=4?L-

=>->64?<D<>4F<>==>< E>EF465, G<E?5 D45>G<E <5EF (>D><5 6<?OE 744=<=) < 

4DG7<5 44==O5, E4D4>F5D<7GNM<5 >5N5>F >4?<F4?L=>7> EFD><F5?LEF64, - 4?O 

>5N5>F>6 =5?D><76>4EF65==>7> =47=4G5=<O; 

 �4==O5 >FEGFEF6GNF. 

 

?) E6545=<O > >><?LNF5D=OE ?D>7D4<<4E, >>F>DO5 <E?>?L7>64?<EL ?D< 6O-

?>?=5=<< D4EG5F>6 >>=EFDG>F<6=OE M?5<5=F>6 744=<=, EFD>5=<= < E>>DG65-

=<=; 

     �5 FD55G5FEO. 

 

 

D) >5>E=>64=<5 6>7<>6=>EF< >EGM5EF6?5=<O EFD><F5?LEF64 >5N5>F4 >4?<-

F4?L=>7> EFD><F5?LEF64 ?> MF4?4< EFD><F5?LEF64 E 6O45?5=<5< MF<E MF4?>6 

(?D< =5>5E>4<<>EF<); 

%>7?4E=> F5E=<G5E>>7> 7444=<O, >4?<F4?L=O= D5<>=F >5N5>F4 ?D54?>?4745FEO 

?D><76>4<FL 6 1 MF4?.  

 

E) E6545=<O > ?D54?>?4745<OE 74FD4F4E, E6O74==OE E> E=>E>< 744=<= < E>-

>DG65=<=, ?5D5E5?5=<5< ?N45=, ?5D5=>E>< E5F5= <=65=5D=>-F5E=<G5E>>7> 

>55E?5G5=<O (?D< =5>5E>4<<>EF<); 

�4 GG4EF>5 >FEGFEF6GNF 75?5=O5 =4E4645=<O, 4 F4>65 744=<O < E>>DG65=<O, ?>4-

?564M<5 E=>EG. 

 

F) 7465D5=<5 ?D>5>F=>= >D74=<74F<< > F><, GF> ?D>5>F=4O 4>>G<5=F4F<O 

D47D45>F4=4 6 E>>F65FEF6<< E 7D44>EFD><F5?L=O< ??4=>< 75<5?L=>7> 

GG4EF>4, 7444=<5< =4 ?D>5>F<D>64=<5, 7D44>EFD><F5?L=O< D57?4<5=F><, 

4>>G<5=F4<< >5 <E?>?L7>64=<< 75<5?L=>7> GG4EF>4 4?O EFD><F5?LEF64 (6 

E?GG45 5E?< =4 75<5?L=O= GG4EF>> =5 D4E?D>EFD4=O5FEO 45=EF6<5 7D44>-

EFD><F5?L=>7> D57?4<5=F4 <?< 6 >F=>L5=<< 57> =5 GEF4=46?<645FEO 7D44>-

EFD><F5?L=O= D57?4<5=F), F5E=<G5E><<< D57?4<5=F4<<, 6 F>< G<E?5 GEF4-

=46?<64NM<<< FD55>64=<O ?> >55E?5G5=<N 557>?4E=>= M>E??G4F4F<< 744-

=<=, EFD>5=<=, E>>DG65=<= < 557>?4E=>7> <E?>?L7>64=<O ?D<?574NM<E > 

=<< F5DD<F>D<=, < E E>5?N45=<5< F5E=<G5E><E GE?>6<=. 
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�4EF>OM<= ?D>5>F < <=65=5D=O5 <7OE>4=<O D47D45>F4=O 6 E>>F65FEF6<< E 

FD55>64=<O<< EFD><F5?L=OE, M>>?>7<G5E><E, E4=<F4D=>-7<7<5=<G5E><E, 

?D>F<6>?>64D=OE < 4DG7<E =>D<, 45=EF6GNM<E =4 F5DD<F>D<< $$, 

>55E?5G<64NM<E 557>?4E=GN 4?O 6<7=< < 74>D>6LO ?N45= M>E??G4F4F<N 

GEF4=>6>>, >5>DG4>64=<O, ?><5M5=<= < 744=<=, 4 F4>65 E FD55>64=<O<< 

F5E=<G5E><E D57?4<5=F>6  ?.10, «�>?>65=<O > E>EF465 D4745?>6 ?D>5>F=>= 

4>>G<5=F4F<< < FD55>64=<OE > <E E>45D64=<N»,  GF65D645==>7> 

?>EF4=>6?5=<5< �D46<F5?LEF64 $$ >F 16.02.20087. 787  

�7DO6>?>64D=4O < ?>64D=4O 557>?4E=>EFL >55E?5G<645FEO ?D< E>5?N45=<< 

?D54GE<>FD5==OE ?D>5>F>< <5D>?D<OF<= < D57?4<5=F<D>64==OE ?D46<? 

M>E??G4F4F<< >5N5>F4. 
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<7<5=5=O =4 4=4?>7<G=O5 <?< E ?GGL<<< F5E=<G5E><<< ?4D4<5FD4<<.

�>FD55=>EF< EFD><F5?LEF64 6> 6D5<5==OE 744=<OE < E>>DG65=<OE =5F.

�D5<5==>5 6>4>E=4565=<5 >EGM5EF6?O5FEO >F 7>D>4E><E E5F5=, 6>4>>F6545=<5

6 7>D>4E>GN >4=4?<74F<N.

10/ 09- 2022- ���$- &'



 �>FD55=>EFL 6 M?5>FD>E=4565=<<. %<?>6O5 < >E65F<F5?L=O5 GEF4=>6>< ?D< D45>F5 ?>

6D5<5==>= EE5<5 M?5>FD>E=4565=<O 4>?6=O <<5FL =4?DO65=<5 380/ 220 �.

 �55E?5G5=<5 M?5>FD>M=5D7<5= 6 ?5D<>4 EFD><F5?LEF64 ?D54GE<4FD<645FEO >F

EGM5EF6GNM5= E5F< M?5>FD>E=4565=<O. &>G>G ?>4>?NG5=<O > EGM5EF6GNM5= E5F<

M?5>FD>E=4565=<O E>7?4E>6O645F < ?D54>EF46?O5F 74>47G<>.

<) >5>E=>64=<5 D47<5D>6 < >E=4M5=<O ??>M44>> 4?O E>?44<D>64=<O <4F5D<4?>6,
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?D>F5EE5 6O?>?=5=<O <<< D45>F, DG>>6>4<F5?< >5O74=O >55E?5G<64FL >5GG5=<5 <
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 �<7<5=<G5E><5 FD55>64=<O > >D74=<74F<< D45>F ?> EFD><F5?LEF6G >5N5>F4. �
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